Research Article



Journal of Nonlinear Science and Applications Print: ISSN 2008-1898 Online: ISSN 2008-1901



Quadratic ρ -functional inequalities in complex matrix normed spaces

Zhihua Wang^{a,*}, Choonkil Park^b

^aSchool of Science, Hubei University of Technology, Wuhan, Hubei 430068, P. R. China. ^bResearch Institute for Natural Sciences, Hanyang University, Seoul 04763, Republic of Korea.

Communicated by R. Saadati

Abstract

In this paper, we solve the following quadratic ρ -functional inequalities

$$\|f(x+y) + f(x-y) - 2f(x) - 2f(y)\| \le \|\rho(2f(\frac{x+y}{2}) + 2f(\frac{x-y}{2}) - f(x) - f(y))\|,$$

where ρ is a fixed complex number with $|\rho| < 1$, and

$$\|2f(\frac{x+y}{2}) + 2f(\frac{x-y}{2}) - f(x) - f(y)\| \le \|\rho(f(x+y) + f(x-y) - 2f(x) - 2f(y))\|,$$

where ρ is a fixed complex number with $|\rho| < \frac{1}{2}$. By using the direct method, we prove the Hyers-Ulam stability of these inequalities in complex matrix normed spaces, and prove the Hyers-Ulam stability of quadratic ρ -functional equations associated with these inequalities in complex matrix normed spaces. (©2016 All rights reserved.

Keywords: Hyers-Ulam stability, matrix normed space, quadratic ρ -functional equation, quadratic ρ -functional inequality. 2010 MSC: 39B82, 39B52.

1. Introduction and preliminaries

The first stability problem concerning with the group homomorphisms was raised by Ulam [13] and affirmatively solved by Hyers [5]. Hyers' result was generalized by Aoki [1] for additive mappings and by

*Corresponding author.

Received 2016-01-29

Email addresses: matwzh2000@126.com (Zhihua Wang), baak@hanyang.ac.kr (Choonkil Park)

Rassias [11] for linear mappings by considering an unbounded Cauchy difference. The paper [11] of Rassias has provided a lot of influence during the last three decades in the development of a generalization of the Hyers-Ulam stability concept. In 1994, a generalization of the Rassias' theorem was obtained by Găvruţă [4] by replacing the bound $\varepsilon(||x||^p + ||y||^p)$ by a general control function $\varphi(x, y)$ in the spirit of the Rassias approach.

The functional equation

$$f(x+y) + f(x-y) = 2f(x) + 2f(y),$$
(1.1)

is called a quadratic functional equation. In particular, every solution of the quadratic functional equation is said to be a quadratic mapping. The Hyers-Ulam stability problem for the quadratic functional equation (1.1) was proved by Skof [12] for mappings from a normed space to a Banach space. Cholewa [2] noticed that Skof's theorem remains true if the domain is replaced by an Abelian group. In 1992, Czerwik [3] gave a generalization of the Skof–Cholewa's result.

The following functional equation

$$2f(\frac{x+y}{2}) + 2f(\frac{x-y}{2}) = f(x) + f(y), \tag{1.2}$$

is called a Jensen-type quadratic equation (see [6]). In [6], Jang et al. proved the Hyers-Ulam stability of the equation (1.2) in fuzzy Banach spaces. In 2014, Wang et al. [14] investigated some stability results for Jensen-type quadratic functional equation (1.2) in intuitionistic fuzzy normed spaces.

In this paper, we consider the following two quadratic ρ -functional inequalities

$$\|f(x+y) + f(x-y) - 2f(x) - 2f(y)\| \le \|\rho(2f(\frac{x+y}{2}) + 2f(\frac{x-y}{2}) - f(x) - f(y))\|,$$
(1.3)

where ρ is a fixed complex number with $|\rho| < 1$, and

$$\|2f(\frac{x+y}{2}) + 2f(\frac{x-y}{2}) - f(x) - f(y)\| \le \|\rho(f(x+y) + f(x-y) - 2f(x) - 2f(y))\|,$$
(1.4)

where ρ is a fixed complex number with $|\rho| < \frac{1}{2}$, in complex matrix Banach spaces. More precisely, we solve the problem of the quadratic ρ -functional inequalities (1.3) and (1.4), and prove the Hyers-Ulam stability of the quadratic ρ -functional inequalities (1.3) and (1.4) in complex matrix Banach spaces by using the direct method. Moreover, we prove the Hyers-Ulam stability of quadratic ρ -functional equations associated with the quadratic ρ -functional inequalities (1.3) and (1.4) in complex matrix Banach spaces.

Following [7, 8, 10], we will also use the following notations. The set of all $(m \times n)$ -matrices in X will be denoted by $M_{m,n}(X)$. When m = n, the matrix $M_{m,n}(X)$ will be written as $M_n(X)$. The symbol $e_j \in M_{1,n}(\mathbb{C})$ will denote the row vector whose *j*-th component is 1 and the other components are 0. Similarly, $E_{ij} \in M_n(\mathbb{C})$ will denote the $n \times n$ matrix whose (i, j)-component is 1 and the other components are 0. The $n \times n$ matrix whose (i, j)-component is x and the other components are 0 will be denoted by $E_{ij} \otimes x \in M_n(X)$. For $x \in M_n(X)$, $y \in M_k(X)$,

$$x \oplus y = \left(egin{array}{cc} x & 0 \\ 0 & y \end{array}
ight).$$

Let $(X, \|\cdot\|)$ be a normed space. Note that $(X, \{\|\cdot\|_n\})$ is a matrix normed space if and only if $(M_n(X), \|\cdot\|_n)$ is a normed space for each positive integer n and $\|AxB\|_k \leq \|A\| \|B\| \|x\|_n$ holds for $A \in M_{k,n}$, $x = [x_{ij}] \in M_n(X)$ and $B \in M_{n,k}$, and that $(X, \{\|\cdot\|_n\})$ is a matrix Banach space if and only if X is a Banach space and $(X, \{\|\cdot\|_n\})$ is a matrix normed space.

A matrix normed space $(X, \|\cdot\|_n)$ is called an L^{∞} -matrix normed space if $\|x \oplus y\|_{n+k} = \max\{\|x\|_n, \|y\|_k\}$ holds for all $x \in M_n(X)$ and all $y \in M_k(X)$.

Let E, F be vector spaces. For a given mapping $h : E \to F$ and a given positive integer n, define $h_n : M_n(E) \to M_n(F)$ by

$$h_n([x_{ij}]) = [h(x_{ij})]$$

for all $[x_{ij}] \in M_n(E)$.

Lemma 1.1 ([7, 8, 10]). Let $(X, \{ \| \cdot \|_n \})$ be a matrix normed space. Then

- (1) $||E_{kl} \otimes x||_n = ||x||$ for $x \in X$;
- (2) $||x_{kl}|| \le ||[x_{ij}]||_n \le \sum_{i,j=1}^n ||x_{ij}||$ for $[x_{ij}] \in M_n(X)$;
- (3) $\lim_{n \to \infty} x_n = x$ if and only if $\lim_{n \to \infty} x_{ijn} = x_{ij}$ for $x_n = [x_{ijn}], x = [x_{ij}] \in M_k(X)$.

Throughout this paper, let $(X, \{ \| \cdot \|_n \})$ be a matrix normed space and $(Y, \{ \| \cdot \|_n \})$ be a matrix Banach space.

2. Stability of the quadratic ρ -functional inequality (1.3) in complex matrix normed spaces

In this section, we prove the Hyers-Ulam stability of the quadratic ρ -functional inequality (1.3) in complex matrix normed spaces. We assume that ρ is a fixed complex number with $|\rho| < 1$.

Lemma 2.1. Let V and W be complex normed spaces. A mapping $f: V \to W$ satisfies

$$\|f(x+y) + f(x-y) - 2f(x) - 2f(y)\| \le \|\rho(2f(\frac{x+y}{2}) + 2f(\frac{x-y}{2}) - f(x) - f(y))\|$$

for all $x, y \in V$ if and only if $f : V \to W$ is quadratic.

Proof. The proof is similar to the proof of [9, Lemma 2.2].

Corollary 2.2. A mapping $f: V \to W$ satisfies

$$\|f(x+y) + f(x-y) - 2f(x) - 2f(y)\| = \|\rho(2f(\frac{x+y}{2}) + 2f(\frac{x-y}{2}) - f(x) - f(y))\|$$

for all $x, y \in V$ if and only if $f : V \to W$ is quadratic.

Theorem 2.3. Let r, θ be positive real numbers with r < 2, and let $f : X \to Y$ be a mapping such that

$$\|f_{n}([x_{ij}] + [y_{ij}]) + f_{n}([x_{ij}] - [y_{ij}]) - 2f_{n}([x_{ij}]) - 2f_{n}([y_{ij}])\|_{n}$$

$$\leq \|\rho(2f_{n}(\frac{[x_{ij}] + [y_{ij}]}{2}) + 2f_{n}(\frac{[x_{ij}] - [y_{ij}]}{2}) - f_{n}([x_{ij}]) - f_{n}([y_{ij}]))\|_{n}$$

$$+ \sum_{i,j=1}^{n} \theta(\|x_{ij}\|^{r} + \|y_{ij}\|^{r})$$
(2.1)

for all $x = [x_{ij}], y = [y_{ij}] \in M_n(X)$. Then there exists a unique quadratic mapping $Q: X \to Y$ such that

$$||f_n([x_{ij}]) - Q_n([x_{ij}])||_n \le \sum_{i,j=1}^n \frac{2\theta}{4 - 2^r} ||x_{ij}||^r$$
(2.2)

for all $x = [x_{ij}] \in M_n(X)$.

Proof. When n = 1, (2.1) is equivalent to

$$\|f(a+b) + f(a-b) - 2f(a) - 2f(b)\| \le \|\rho(2f(\frac{a+b}{2}) + 2f(\frac{a-b}{2}) - f(a) - f(b))\| + \theta(\|a\|^r + \|b\|^r)$$
(2.3)

for all $a, b \in X$. By letting a = b = 0 in (2.3), we get $||2f(0)|| \le |\rho|||2f(0)||$, implying that f(0) = 0. Next, by letting b = a in (2.3), we obtain

$$\|f(2a) - 4f(a)\| \le 2\theta \|a\|^r \tag{2.4}$$

for all $a \in X$. It follows from (2.4) that

$$||f(a) - \frac{1}{4}f(2a)|| \le \frac{1}{2}\theta ||a||^r$$

for all $a \in X$. Hence

$$\begin{aligned} \left\| \frac{1}{4^{l}} f(2^{l}a) - \frac{1}{4^{m}} f(2^{m}a) \right\| &\leq \sum_{j=l}^{m-1} \left\| \frac{1}{4^{j}} f(2^{j}a) - \frac{1}{4^{j+1}} f(2^{j+1}a) \right\| \\ &\leq \frac{1}{2} \sum_{j=l}^{m-1} \frac{2^{rj}}{4^{j}} \theta \|a\|^{r} \end{aligned}$$

$$(2.5)$$

for all nonnegative integers m and l with m > l and all $a \in X$. It follows from (2.5) that the sequence $\{\frac{f(2^n a)}{4^n}\}$ is a Cauchy sequence in Y for all $a \in X$. Since Y is complete, the sequence $\{\frac{f(2^n a)}{4^n}\}$ is convergent. So one can define the mapping $Q: X \to Y$ by

$$Q(a) = \lim_{n \to \infty} \frac{1}{4^n} f(2^n a)$$
(2.6)

for all $a \in X$. Moreover, by letting l = 0 and passing the limit $m \to \infty$ in (2.5), we get

$$\|f(a) - Q(a)\| \le \frac{2\theta}{4 - 2^r} \|a\|^r$$
(2.7)

for all $a \in X$.

Now, we show that the mapping Q is quadratic. It follows from (2.3) and (2.6) that

$$\begin{split} \|Q(a+b) + Q(a-b) - 2Q(a) - 2Q(b)\| &= \lim_{n \to \infty} \frac{1}{4^n} \|f(2^n(a+b)) + f(2^n(a-b)) - 2f(2^na) - 2f(2^nb)\| \\ &\leq \lim_{n \to \infty} \frac{1}{4^n} \|\rho(2f(\frac{2^n(a+b)}{2}) + 2f(\frac{2^n(a-b)}{2}) - f(2^na) - f(2^nb))\| \\ &+ \lim_{n \to \infty} \frac{2^{rn}}{4^n} \theta(\|a\|^r + \|b\|^r) \\ &= \|\rho(2Q(\frac{a+b}{2}) + 2Q(\frac{a-b}{2}) - Q(a) - Q(b))\| \end{split}$$

for all $a, b \in X$. Thus, by Lemma 2.1, the mapping $Q: X \to Y$ is quadratic.

To prove the uniqueness of Q, let $Q': X \to Y$ be another quadratic mapping satisfying (2.2). Let n = 1. Then we get

$$\begin{aligned} \|Q(a) - Q'(a)\| &= \|\frac{1}{4^n}Q(2^n a) - \frac{1}{4^n}Q'(2^n a)\| \\ &\leq \|\frac{1}{4^n}Q(2^n a) - \frac{1}{4^n}f(2^n a)\| + \|\frac{1}{4^n}Q'(2^n a) - \frac{1}{4^n}f(2^n a)\| \\ &\leq \frac{4\theta}{4 - 2^r}\frac{2^{rn}}{4^n}\|a\|^r \end{aligned}$$

for all $a \in X$. By letting $n \to \infty$ in the above inequality, we get Q(a) = Q'(a) for all $a \in X$, which gives the conclusion.

By Lemma 1.1 and (2.7), we get

$$||f_n([x_{ij}]) - Q_n([x_{ij}])||_n \le \sum_{i,j=1}^n \frac{2\theta}{4 - 2^r} ||x_{ij}||^r$$

for all $x = [x_{ij}] \in M_n(X)$. Thus $Q: X \to Y$ is a unique quadratic mapping satisfying (2.2), as desired. This completes the proof of the theorem.

Theorem 2.4. Let r, θ be positive real numbers with r > 2, and let $f : X \to Y$ be a mapping satisfying (2.1) for all $x = [x_{ij}], y = [y_{ij}] \in M_n(X)$. Then there exists a unique quadratic mapping $Q : X \to Y$ such that

$$||f_n([x_{ij}]) - Q_n([x_{ij}])||_n \le \sum_{i,j=1}^n \frac{2\theta}{2^r - 4} ||x_{ij}||^r$$
(2.8)

for all $x = [x_{ij}] \in M_n(X)$.

Proof. It follows from (2.4) that

$$||f(a) - 4f(\frac{a}{2})|| \le \frac{2}{2^r}\theta ||a||^r$$

for all $a \in X$. Hence

$$\begin{aligned} \|4^{l}f(\frac{a}{2^{l}}) - 4^{m}f(\frac{a}{2^{m}})\| &\leq \sum_{j=l}^{m-1} \|4^{j}f(\frac{a}{2^{j}}) - 4^{j+1}f(\frac{a}{2^{j+1}})\| \\ &\leq \frac{2}{2^{r}}\sum_{j=l}^{m-1} \frac{4^{j}}{2^{rj}}\theta\|a\|^{r} \end{aligned}$$

$$(2.9)$$

for all nonnegative integers m and l with m > l and all $a \in X$. It follows from (2.9) that the sequence $\{4^n f(\frac{a}{2^n})\}$ is a Cauchy sequence in Y for all $a \in X$. Since Y is complete, the sequence $\{4^n f(\frac{a}{2^n})\}$ is convergent. So one can define the mapping $Q: X \to Y$ by

$$Q(a) = \lim_{n \to \infty} 4^n f(\frac{a}{2^n})$$

for all $a \in X$. Moreover, by letting l = 0 and passing the limit $m \to \infty$ in (2.9), we get

$$||f(a) - Q(a)|| \le \frac{2\theta}{2^r - 4} ||a||^r$$

for all $a \in X$. The rest of the proof is similar to that of Theorem 2.3 and thus it is omitted.

By the triangle inequality, we obtain

$$\begin{split} \|f_n([x_{ij}] + [y_{ij}]) + f_n([x_{ij}] - [y_{ij}]) - 2f_n([x_{ij}]) - 2f_n([y_{ij}])\|_n \\ &- \|\rho(2f_n(\frac{[x_{ij}] + [y_{ij}]}{2}) + 2f_n(\frac{[x_{ij}] - [y_{ij}]}{2}) - f_n([x_{ij}]) - f_n([y_{ij}]))\|_n \\ &\leq \|f_n([x_{ij}] + [y_{ij}]) + f_n([x_{ij}] - [y_{ij}]) - 2f_n([x_{ij}]) - 2f_n([y_{ij}]) \\ &- \rho(2f_n(\frac{[x_{ij}] + [y_{ij}]}{2}) + 2f_n(\frac{[x_{ij}] - [y_{ij}]}{2}) - f_n([x_{ij}]) - f_n([y_{ij}]))\|_n. \end{split}$$

As corollaries of Theorems 2.3 and 2.4, we obtain the Hyers-Ulam stability results for the quadratic ρ -functional equation associated with the quadratic ρ -functional inequality (1.3) in complex matrix Banach spaces.

Corollary 2.5. Let r, θ be positive real numbers with r < 2, and let $f : X \to Y$ be a mapping such that

$$\|f_n([x_{ij}] + [y_{ij}]) + f_n([x_{ij}] - [y_{ij}]) - 2f_n([x_{ij}]) - 2f_n([y_{ij}]) - 2f_n([y_{ij}]) - 2f_n([y_{ij}]) - 2f_n([y_{ij}]) - 2f_n([y_{ij}])) \|_n \le \sum_{i,j=1}^n \theta(\|x_{ij}\|^r + \|y_{ij}\|^r)$$
(2.10)

for all $x = [x_{ij}], y = [y_{ij}] \in M_n(X)$. Then there exists a unique quadratic mapping $Q : X \to Y$ satisfying (2.2) for all $x = [x_{ij}] \in M_n(X)$.

Corollary 2.6. Let r, θ be positive real numbers with r > 2, and let $f : X \to Y$ be a mapping satisfying (2.10) for all $x = [x_{ij}], y = [y_{ij}] \in M_n(X)$. Then there exists a unique quadratic mapping $Q : X \to Y$ satisfying (2.8) for all $x = [x_{ij}] \in M_n(X)$.

Remark 2.7. If ρ is a real number such that $-1 < \rho < 1$ and Y is a real Banach space, then all the assertions in this section remain valid.

3. Stability of the quadratic ρ -functional inequality (1.4) in complex matrix normed spaces

In this section, we prove the Hyers-Ulam stability of the quadratic ρ -functional inequality (1.4) in complex matrix normed spaces. We assume that ρ is a fixed complex number with $|\rho| < \frac{1}{2}$.

Lemma 3.1. Let V and W be complex normed spaces. A mapping $f: V \to W$ satisfies

$$\|2f(\frac{x+y}{2}) + 2f(\frac{x-y}{2}) - f(x) - f(y)\| \le \|\rho(f(x+y) + f(x-y) - 2f(x) - 2f(y))\|$$

for all $x, y \in V$ if and only if $f : V \to W$ is quadratic.

Proof. The proof is similar to the proof of [9, Lemma 3.1].

Corollary 3.2. A mapping $f: V \to W$ satisfies

$$\|2f(\frac{x+y}{2}) + 2f(\frac{x-y}{2}) - f(x) - f(y)\| = \|\rho(f(x+y) + f(x-y) - 2f(x) - 2f(y))\|$$

for all $x, y \in V$ if and only if $f : V \to W$ is quadratic.

Theorem 3.3. Let r, θ be positive real numbers with r < 2, and let $f : X \to Y$ be a mapping such that

$$\begin{aligned} \|2f_{n}(\frac{[x_{ij}] + [y_{ij}]}{2}) + 2f_{n}(\frac{[x_{ij}] - [y_{ij}]}{2}) - f_{n}([x_{ij}]) - f_{n}([y_{ij}])\|_{n} \\ &\leq \|\rho(f_{n}([x_{ij}] + [y_{ij}]) + f_{n}([x_{ij}] - [y_{ij}]) - 2f_{n}([x_{ij}]) - 2f_{n}([y_{ij}]))\|_{n} \\ &+ \sum_{i,j=1}^{n} \theta(\|x_{ij}\|^{r} + \|y_{ij}\|^{r}) \end{aligned}$$
(3.1)

for all $x = [x_{ij}], y = [y_{ij}] \in M_n(X)$. Then there exists a unique quadratic mapping $Q: X \to Y$ such that

$$\|f_n([x_{ij}]) - Q_n([x_{ij}])\|_n \le \sum_{i,j=1}^n \frac{2^r \theta}{4 - 2^r} \|x_{ij}\|^r$$
(3.2)

for all $x = [x_{ij}] \in M_n(X)$.

Proof. When n = 1, (3.1) is equivalent to

$$\begin{aligned} \|2f(\frac{a+b}{2}) + 2f(\frac{a-b}{2}) - f(a) - f(b)\| \\ &\leq \|\rho(f(a+b) + f(a-b) - 2f(a) - 2f(b))\| + \theta(\|a\|^r + \|b\|^r) \end{aligned}$$
(3.3)

for all $a, b \in X$. By letting a = b = 0 in (3.3), we get $||2f(0)|| \le |\rho|||2f(0)||$, implying that f(0) = 0. Next, by letting b = 0 in (3.3), we obtain

$$\|f(2a) - 4f(a)\| \le 2^r \theta \|a\|^r \tag{3.4}$$

for all $a \in X$. It follows from (2.4) that

$$||f(a) - \frac{1}{4}f(2a)|| \le \frac{2^r}{4}\theta ||a||^r$$

for all $a \in X$. Hence

$$\begin{aligned} \|\frac{1}{4^{l}}f(2^{l}a) - \frac{1}{4^{m}}f(2^{m}a)\| &\leq \sum_{j=l}^{m-1} \|\frac{1}{4^{j}}f(2^{j}a) - \frac{1}{4^{j+1}}f(2^{j+1}a)\| \\ &\leq \frac{2^{r}}{4}\sum_{j=l}^{m-1}\frac{2^{rj}}{4^{j}}\theta\|a\|^{r} \end{aligned}$$
(3.5)

for all nonnegative integers m and l with m > l and all $a \in X$. It follows from (3.5) that the sequence $\{\frac{f(2^n a)}{4^n}\}$ is a Cauchy sequence in Y for all $a \in X$. Since Y is complete, the sequence $\{\frac{f(2^n a)}{4^n}\}$ is convergent. So one can define the mapping $Q: X \to Y$ by

$$Q(a) = \lim_{n \to \infty} \frac{1}{4^n} f(2^n a) \tag{3.6}$$

for all $a \in X$. Moreover, by letting l = 0 and passing the limit $m \to \infty$ in (3.5), we get

$$||f(a) - Q(a)|| \le \frac{2^r \theta}{4 - 2^r} ||a||^r$$

for all $a \in X$.

Now, we show that the mapping Q is quadratic. It follows from (3.3) and (3.6) that

$$\begin{split} \|2Q(\frac{a+b}{2}) + 2Q(\frac{a-b}{2}) - Q(a) - Q(b)\| &= \lim_{n \to \infty} \frac{1}{4^n} \|2f(\frac{2^n(a+b)}{2}) + 2f(\frac{2^n(a-b)}{2}) - f(2^na) - f(2^nb)\| \\ &\leq \lim_{n \to \infty} \frac{1}{4^n} \|\rho(f(2^n(a+b)) + f(2^n(a-b)) - 2f(2^na) - 2f(2^nb))\| \\ &+ \lim_{n \to \infty} \frac{2^{rn}}{4^n} \theta(\|a\|^r + \|b\|^r) \\ &= \|\rho(Q(a+b) + Q(a-b) - 2Q(a) - 2Q(b))\| \end{split}$$

for all $a, b \in X$. Thus, by Lemma 3.1, the mapping $Q: X \to Y$ is quadratic. The rest of the proof is similar to that of Theorem 2.3 and thus it is omitted.

Theorem 3.4. Let r, θ be positive real numbers with r > 2, and let $f : X \to Y$ be a mapping satisfying (3.1) for all $x = [x_{ij}], y = [y_{ij}] \in M_n(X)$. Then there exists a unique quadratic mapping $Q : X \to Y$ such that

$$||f_n([x_{ij}]) - Q_n([x_{ij}])||_n \le \sum_{i,j=1}^n \frac{2^r \theta}{2^r - 4} ||x_{ij}||^r$$
(3.7)

for all $x = [x_{ij}] \in M_n(X)$.

Proof. It follows from (3.4) that

$$||f(a) - 4f(\frac{a}{2})|| \le \theta ||a||^r$$

for all $a \in X$. Hence

$$\begin{aligned} \|4^{l}f(\frac{a}{2^{l}}) - 4^{m}f(\frac{a}{2^{m}})\| &\leq \sum_{j=l}^{m-1} \|4^{j}f(\frac{a}{2^{j}}) - 4^{j+1}f(\frac{a}{2^{j+1}})\| \\ &\leq \sum_{j=l}^{m-1} \frac{4^{j}}{2^{rj}}\theta \|a\|^{r} \end{aligned}$$
(3.8)

for all nonnegative integers m and l with m > l and all $a \in X$. It follows from (3.8) that the sequence $\{4^n f(\frac{a}{2^n})\}$ is a Cauchy sequence in Y for all $a \in X$. Since Y is complete, the sequence $\{4^n f(\frac{a}{2^n})\}$ converges. So one can define the mapping $Q: X \to Y$ by

$$Q(a) = \lim_{n \to \infty} 4^n f(\frac{a}{2^n})$$

for all $a \in X$. Moreover, by letting l = 0 and passing the limit $m \to \infty$ in (3.8), we get

$$||f(a) - Q(a)|| \le \frac{2^r \theta}{2^r - 4} ||a||^r$$

for all $a \in X$. The rest of the proof is similar to that of Theorem 3.3 and thus it is omitted.

By the triangle inequality, we obtain

$$\begin{split} \|2f_n(\frac{[x_{ij}] + [y_{ij}]}{2}) + 2f_n(\frac{[x_{ij}] - [y_{ij}]}{2}) - f_n([x_{ij}]) - f_n([y_{ij}])\|_n \\ &- \|\rho(f_n([x_{ij}] + [y_{ij}]) + f_n([x_{ij}] - [y_{ij}]) - 2f_n([x_{ij}]) - 2f_n([y_{ij}]))\|_n \\ &\leq \|2f_n(\frac{[x_{ij}] + [y_{ij}]}{2}) + 2f_n(\frac{[x_{ij}] - [y_{ij}]}{2}) - f_n([x_{ij}]) - f_n([y_{ij}]) \\ &- \rho(f_n([x_{ij}] + [y_{ij}]) + f_n([x_{ij}] - [y_{ij}]) - 2f_n([x_{ij}]) - 2f_n([y_{ij}]))\|_n. \end{split}$$

As corollaries of Theorems 3.3 and 3.4, we obtain the Hyers-Ulam stability results for the quadratic ρ -functional equation associated with the quadratic ρ -functional inequality (1.4) in complex matrix Banach spaces.

Corollary 3.5. Let r, θ be positive real numbers with r < 2, and let $f : X \to Y$ be a mapping such that

$$|2f_{n}(\frac{[x_{ij}] + [y_{ij}]}{2}) + 2f_{n}(\frac{[x_{ij}] - [y_{ij}]}{2}) - f_{n}([x_{ij}]) - f_{n}([y_{ij}]) - f_{n}([y_{ij}]) - f_{n}([y_{ij}]) - f_{n}([y_{ij}]))|_{n} \le \sum_{i,j=1}^{n} \theta(||x_{ij}||^{r} + ||y_{ij}||^{r})$$

$$(3.9)$$

for all $x = [x_{ij}], y = [y_{ij}] \in M_n(X)$. Then there exists a unique quadratic mapping $Q : X \to Y$ satisfying (3.2) for all $x = [x_{ij}] \in M_n(X)$.

Corollary 3.6. Let r, θ be positive real numbers with r > 2, and let $f : X \to Y$ be a mapping satisfying (3.9) for all $x = [x_{ij}], y = [y_{ij}] \in M_n(X)$. Then there exists a unique quadratic mapping $Q : X \to Y$ satisfying (3.7) for all $x = [x_{ij}] \in M_n(X)$.

Remark 3.7. If ρ is a real number such that $-1 < \rho < 1$ and Y is a real Banach space, then all the assertions in this section remain valid.

Acknowledgment

I would like to thank the referee(s) for his comments and suggestions on the manuscript. This research work is supported by Key Project of Educational Department of Hubei Province of China (Grant Nos. D20161401) and BSQD12077.

References

- [1] T. Aoki, On the stability of the linear transformation in Banach spaces, J. Math. Soc. Japan, 2 (1950), 64–66. 1
- [2] P. W. Cholewa, Remarks on the stability of functional equations, Aequationes Math., 27 (1984), 76–86. 1
- [3] St. Czerwik, On the stability of the quadratic mapping in normed spaces, Abh. Math. Sem. Univ. Hamburg, 62 (1992), 59-64. 1
- [4] P. Găvruţa, A generalization of the Hyers-Ulam-Rassias stability of approximately additive mappings, J. Math. Anal. Appl., 184 (1994), 431–436.
- [5] D. H. Hyers, On the stability of the linear functional equation, Proc. Nat. Acad. Sci. U. S. A., 27 (1941), 222–224.
- S.-Y. Jang, J. R. Lee, C. K. Park, D. Y. Shin, Fuzzy stability of Jensen-type quadratic functional equations, Abstr. Appl. Anal., 2009 (2009), 17 pages. 1
- J. R. Lee, C. K. Park, D. Y. Shin, An AQCQ-functional equation in matrix normed spaces, Results Math., 64 (2013), 305–318.
- [8] J. R. Lee, D. Y. Shin, C. K. Park, Hyers-Ulam stability of functional equations in matrix normed spaces, J. Inequal. Appl., 2013 (2013), 11 pages. 1, 1.1
- [9] C. K. Park, Quadratic ρ-functional inequalities in non-Archimedean normed spaces, Izv. Nats. Akad. Nauk Armenii Mat., 50 (2015), 68–80, translation in J. Contemp. Math. Anal., 50 (2015), 187–195. 2, 3
- [10] C. K. Park, J. R. Lee, D. Y. Shin, Functional equations and inequalities in matrix paranormed spaces, J. Inequal. Appl., 2013 (2013), 13 pages. 1, 1.1
- [11] Th. M. Rassias, On the stability of the linear mapping in Banach spaces, Proc. Amer. Math. Soc., 72 (1978), 297–300. 1
- [12] F. Skof, Local properties and approximation of operators, (Italian) Geometry of Banach spaces and related topics, Italian, Milan, (1983), Rend. Sem. Mat. Fis. Milano, 53 (1983), 113–129. 1
- [13] S. M. Ulam, Problems in modern mathematics, Science Editions John Wiley & Sons, Inc., New York, (1964). 1
- [14] Z. Wang, Th. M. Rassias, R. Saadati, Intuitionistic fuzzy stability of Jensen-type quadratic functional equations, Filomat, 28 (2014), 663–676. 1